Math 121 Self-Assessment Quiz #3 September 21, 2022
Answer Key

e Please see the course webpage for the answer key.
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OR you can convert the square root to a B power.
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Trig. Substitute
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note that the minus sign can be removed in the second line by switching the limits of integration
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OR finish this way with marking the original limits instead of changing them
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Standard u substitution to simplify at the start: du = —sinxdx

—du = sin zdzx

u2 41

u = tanf
Trig. Substitute
du = sec? 0do 1

Standard w substitution for odd trig. integral / cos” 6 df technique:

w =sind

dw = cos 0 db
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Double IBP:



u = (In(z* + 1))2

du = 2In(z% + 1) <

241

1
dv=1-—

1
>(2x)da; V=2 + —
x

2

dzx

u=In(z?+1) dv=1dx

2z

d = —-———
Y 2 +1

dr v=ux




